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Information provided is for educational purposes and does not constitute financial product advice. You
should obtain independent advice from an Australian financial services licensee before making any
financial decisions. Although ASX Limited ABN 98 008 624 691 and its related bodies corporate (*“ASX”)
has made every effort to ensure the accuracy of the information as at the date of publication, ASX does
not give any warranty or representation as to the accuracy, reliability or completeness of the information.
To the extent permitted by law, ASX and its employees, officers and contractors shall not be liable for any
loss or damage arising in any way (including by way of negligence) from or in connection with any
information provided or omitted or from any one acting or refraining to act in reliance on this information.

© Copyright 2023 ASX Limited ABN 98 008 624 691. All rights reserved 2023.

All Ordinaries®, All Ords®, AllOrds®, ASX®, ASX100®, CHESS® are registered trademarks of ASX
Operations Pty Limited ABN 42 004 523 782 ("ASXO").

ASX20™, ASX50™, ASX200™, ASX300™ are trade marks of ASXO.

S&P™ is a trademark of Standard and Poor’s, a division of The McGraw-Hill Companies Inc.
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Topic 1: Strategy overview

Introduction

A simple directional view can be traded using one
of the 'basic' option strategies. A bullish trader
might buy a call, while a bearish trader might buy a
put.

But what if you think a stock might be about to
make a big move - but you don't know in which
direction? Is there a strategy that enables you to
profit, whether the stock price moves up or down?

Before considering this question, it is worth asking
when you might hold such a view.

Up or down?

A view that a stock is about to break out from its
current price is often 'event-driven’, meaning there
is an event approaching that you think will have a
dramatic effect on the share price.

The event could be something that is relevant only
to a particular company.

For example, a mining company is about to
release the results of a major exploration program.
You might think that if the program has been
successful, the share price will rise significantly,
but if the results are poor, the share price will
slump.

Or the event could be something with broader
consequences for the market as a whole, or for a
sector of the market.

For example, retail sales figures for the Christmas
period are about to be released. You might think
that if the figures are much stronger, or weaker,
than the market is expecting, the share price of
many or all of the listed companies in the retail
sector will be significantly affected.

Construction

To profit from your view you need a strategy that
gives you exposure to both a rise and a fall in the
share price.
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A taken call option allows you to profit if the share
price rises, while a taken put allows you to profit if
the share price falls. Buying both a call and a put
gives you the potential for profit regardless of the
direction of the movement.

Depending on the strike prices of the options you
use, the strategy is known as a 'straddle' or a
'strangle’.

Straddles and strangles

Both legs of a straddle have the same strike price.
The two legs of a strangle have different strikes.

These strategies always use options with the same
expiry date.

The straddle

The taken straddle involves the purchase of a call
and a put with the same strike. At-the-money
options are typically used.

Example
With XYZ shares trading at $10.00, you:

e take one XYZ 1000 call @ $0.31, and
e take one XYZ 1000 put @ $0.26.

The strangle

The taken strangle involves the purchase of a call
and a put with different strikes. Out-of the-money
options are typically used.

Example
With XYZ shares trading at $10.00, you:

e take one XYZ 1050 call @ $0.12, and
e take one XYZ 950 put @ $0.09.

As the stock price moves, one option should rise in
value, the other should fall.

Your hope is that the stock price moves far enough
that the increase in value of the 'winning' option is
more than the decrease in value of the 'losing'
option.

If this happens, your position will be worth more

than the initial cost of the strategy, and you should
be able to exit the position at a profit.

Version 2 February 2023
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Volatility and time decay

Both volatility and time decay are crucial

considerations with the straddle and the strangle.

Market outlook Large move in either direction
Consistent with the expectation of a big move in N .
. ! . . . Volatility outlook Increasing
the stock price, your view is that volatility will
increase. An increase in volatility helps both legs Time decay Hurts
of the strategy, while a fall in volatility hurts both S—
legs.

As the taken straddle/strangle consists of two
bought options, time decay works strongly against
the strategy.

Version 2 February 2023 5
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Topic 2: Profits, losses and breakevens

The straddle:
breakevens

maximum profit, maximum loss,

Your maximum loss is the cost of the straddle: the
premium you pay for the call, plus the premium
you pay for the put.

The taken call offers increasing profits as the
share price rises, while the taken put offers
increasing profits as the share price falls.

There are two breakeven points:

¢ the strike plus the cost of the strategy, and
¢ the strike less the cost of the strategy.

Calculating your profit/loss at expiry

At expiry, if the share price is above the strike, the
call option will be in the money, and the put will
expire worthless. Your profit/loss is the intrinsic
value of the call less the cost of the strategy.

If the share price is below the strike, the put will be
in the money, and the call will expire worthless.
Your profit/loss is the intrinsic value of the put less
the cost of the strategy.

On the rare occasion that the share price is exactly
at the strike, both options should expire worthless.

The strangle:
breakevens

maximum profit, maximum loss,

Your maximum loss is the cost of the strangle: the
premium you pay for the call, plus the premium
you pay for the put.

The taken call offers increasing profits as the
share price rises, while the taken put offers
increasing profits as the share price falls.

There are two breakeven points:

e the call strike plus the cost of the strategy, and
e the put strike less the cost of the strategy.
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Show the profit, loss and breakevens for the straddle:
* Take one 1000 call @ $0.31
» Take one 1000 put @ $0.26
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Maximum loss

+ Take one 1000 call @ $0.31
* Take one 1000 put @ $0.26

Profit/
loss
10.00
9 .4:\/10. 57
-0.57

Share price
at expiry

At expiry
Share price 9.00 9.70 10.40 10.90
1000 call 0.00 0.00 040 0.90
1000 put 1.00 0.30 0.00 0.00
Straddle cost  $0.57 0.57 087 0.57
Profitfloss 0.43 (0.27) (0.17) 0.33
Show the profit, loss and breakevens for the strangle:
» Take one $10.50 call @ $0.12
» Take one $9.50 put @ $0.09
______ ol
|
Profitf | Increasing :_______
loss S | — I =
Profit
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| ! |
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Calculating your profit/loss at expiry

At expiry, if the share price is above the upper
strike, the call will be in the money and the put will
expire worthless. Your profit/loss is the intrinsic
value of the call less the cost of the strategy.

» Take one $10.50 call @ $0.12
» Take one $9.50 put @ $0.09

Profit/
loss
\ 9.50 10,00  10.50

L . ' ' hare pri
If the share price is below the lower strike, the put w : ‘Z?‘ZESF;
will be in the money and the call will expire 021
worthless. Your profit/loss is the intrinsic value of
the put less the cost of the strategy. At expiry
Share price 9.20 10.00 10.60 10.90
If the share price is between the two strikes, both T = — By
options will expire worthless and you incur your
. 950 put 0.30 0.00 0.00 0.00
maximum loss.
Strangle cost 021 021 021 021
Before expiry Profit/loss 0.09 ©24) | (©11) 018
You can exit your position at any time before
expiry.
If the expected price movement takes place soon
after the position is entered, one option should
increase in value, while the other should decrease.
Overall, the straddle/strangle should rise in value
and you should be able to close out the position at
a profit.
If the share price does not move as expected, the
strategy will lose value.
Your profit or loss will be the difference between
the cost of the strategy and the amount you
receive on closing out.
20 days before expiry
Scenario 1 Scenario 2 Scenario 3
Share price $10.60 $9.50 $10.20
1000 call $0.70 $0.10 $0.37
1000 put $0.08 $0.58 $0.14
Value of straddle $0.78 $0.68 5051
Initial cost of straddle $0.57 $0.57 $0.57
Profit/loss $0.21 $0.11 $(0.08)
Version 2 February 2023 7
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Topic 3: Straddle vs. strangle
Maximum loss
The strangle costs Iessf than the straddle, Straddle: - Take one $10.00 call @ $0.31
because you are buying out-of-the-money ST I I i T2
options instead of more expensive at-the-money Strangle: - Take one $10.50 call @ $0.12
Options. * Take one $9.50 put @ $0.09

= Straddle = Sirangle
In our example, the maximum loss for the
strangle is $0.21. You will incur this loss if the
share price at expiry is anywhere between the
two strikes, $9.50 and $10.50.

10.00

Your maximum loss for the straddle is $0.57. You / Maximum loss, strangle
incur this loss at expiry only if the share price is 0.12
exactly at the strike price of the two options. Maximum loss, straddle
However, if the share price does not move far o
from the option strike, your losses will still be '

heavy.

Price movement required to profit

Straddle: - Take one $10.00 call @ $0.31
Whil h le i h h h dd * Take one $10.00 put @ $0.26
lle the Strang € IS cheaper than the stra € Strangle: - Take one $10.50 call @ $0.12

the share price must move further for the - Take one $9.50 put @ $0.09
strategy to be profitable at expiry.

The breakevens for the straddle are $9.43 and
$10.57, meaning the share price must move by
more than $0.57 for you to make a profit at
expiry. \

The breakevens for the strangle are $9.29 and
$10.71. The move required for you to make a
profit at expiry is more than $0.71.

How do | decide?

required

e How much am | prepared to risk losing?
e How dramatic do | think the price breakout
will be?

Straddle Higher Smaller

Strangle Lower Larger

The choice of straddle or strangle is similar to the
decision the bullish trader faces between an at-
the-money and an out-of-the-money call.

The out-of-the-money call is cheaper, but less
likely to make a profit as the share price has to
move further. The at-the-money call costs more,
but the share price doesn't have to move so far
for you to profit.

Version 2 February 2023 8
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Topic 4. Benefits, risks and other features

Benefit: no need to pick direction N — st |
When you buy a call or a put, you must decide in R L,_f‘—' “x‘l\,_

which direction the stock price will move. If you
get the direction wrong, you will make a loss.

The main advantage of the straddle/strangle is
that you have both directions covered. The
direction of the movement is irrelevant. All that
matters is that the move is large enough.

HM

Risk: large move required

Straddles and strangles both involve the
. Opening transaction Shnm when 3haru muve

Take one 2000 call @ $0.61

At expiry, if the share price has made the Take one 2000 put @ $0.53 e R
expected move, one leg will be worthless. For
you to make a profit, the price must have moved [P $15.00 >$0.95
enough that the in-the-money leg is worth more
than the premium you paid for the two options. 3 Tk ie Je0U Cll 130 47 $25.00 > $1.65

Take one 2400 put @ $0.28

The main risk is that the share price does not
move far enough by expiry.

Risk: time decay
XYZ shares

Time decay is especially damaging to the $

straddle and strangle as the strategies involve

two bought legs.

Also, because the options are at the money
(straddle) or out of the money (strangle), they are
generally made up almost entirely of time value,

’ . ) Expiry
so are hit particularly hard by time decay.
XYZ call XYZ put Value of
straddle/strangle
If the share price does not make the expected b s s
move, time decay will quickly erode the value of ®) (8)

your position.

What if | already hold the stock?

If you already hold the stock, and have the
expectation that the price will break out but are
unsure of the direction, you can achieve the
equivalent exposure to the straddle/strangle by
adding put options to your position.
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You buy two put options for every 100 shares
youhold.

: 10.00 : 10.00 _ 10.00
The combination of stock plus one put is — F‘t - e

equivalent to the bought call leg of the — -
‘conventional' straddle/strangle. You have

uncapped profit potential if the stock price rises, T
and limited losses if the share price falls.

Construction 1

‘| 10;‘%/: '| 10.00 1 ‘ 10.00 | 10.00

. . . . | +! !  + : = !

The second put gives you increasing profits as 1\ : :\ ! \ \

the share price falls. e R

The net result is that you will profit if the share

price moves far enough in either direction.

Construction

To construct the strategy using stock and put . . )

options, choose the same strike prices you would :‘ 000~ | l| wo0 i| fooc K 1000
have used in the conventional construction of the ‘ +‘ : "‘ : :=‘ N
strategy. [ ANTRSTIT i T— e
Example __ —

You hold 100 shares in XYZ, trading at $10.00. | 1000~ :+:| 950 ;+:| 1050 :_’ 950 1050,
Straddle R | N

You buy two at-the-money puts, the XYZ $10.00

puts @ $0.26.

Strangle

You buy:

e 1 XYZ$9.50 put @ $0.09, and
e 1 XYZ$10.50 put @ $0.58.

Version 2 February 2023 10
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Topic 5: Follow-up action

At expiry

Straddle
If you hold the straddle to expiry, one option will
be in the money and the other option will expire
worthless.

If the share price has risen, the call will be in the
money. If it has fallen, the put will be in the
money. You can sell the option on market to
realise its value.

Strangle

If the share price has moved far enough (above
the call strike, or below the put strike), one leg
will be in the money. You can sell the option on
market to realise its value.

If the share price is between the two strikes, both
options will expire worthless, and no action is
required.

Before expiry

The straddle and strangle are often closed out
ahead of expiry, before the most damaging
phase of time decay close to expiry is reached.

Share price stays steady

If the share price does not behave as expected,
the strategy will lose value as time decay takes
its effect. It's also likely that implied volatility will
fall, further reducing your options' value.

You must decide whether to hold on in the hope
the breakout takes place, or close out before too
much time value is lost.

The longer the stock price stays steady, the more
time decay will damage your position.

Stock price breaks out
If early on the stock price moves strongly, you
can consider taking the strategy off.

The benefit is that you lock in your profit before
time decay has a chance to damage your
position or the share price reverses.

Version 2 February 2023

Share price Straddle Strangle
at expiry
Taken 1000 call Taken 1000 put Taken 1050 call Taken 950 put
Close out? Close out? Close out? Close out?
No Yes No Yes No Yes No Yes
$9.30 v & & & «
$9.75 & & % e
v @ x

$1075 % & & 54 e

X

X

QLAQQ

$10.10

®

X X

QU QX

Loss so far Possibility of Risk of increased
locked in? profit remains? | losses remains?
Yes No No

Close out

Hold position No Yes Yes

Profit so far Further profit Risk of loss
locked in? potential remains? remains?
Yes No No

Close out

Hold position Mo Yes Yes
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The disadvantage is that the share price may
move even further after you close out, and you
could have made a larger profit by maintaining
your position.

There is no right or wrong answer. You need to
form an opinion on whether the breakout has
further to go, and decide whether you are
prepared to run the risk the share price will
stabilise or reverse.

Legging out

If the StOCk pnce_ breaks out as eXpeCteq: there Legging out of a straddle/strangle will only produce a
can be a temptat|0n to |eg out Of your posmon_ better result than closing out both legs at once if the

share price subsequently moves favourably.

Assume after buying the $10.00 straddle, the

YOU COU|d Call Put Falls

« sell the call for a profit, and retain the put in o cal e

the hope the share price reverses

e retain the call in the hope of a continued rise
in price, and sell the put while it still has some
value.

The risk is that the stock price moves
unfavourably after you close out the first leg. The
total premium you receive for the two options
could be less than if you had closed both legs at
the same time.

Version 2 February 2023 12
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Summary

Straddles and strangles give you the
potential for profit if the share price moves
strongly either up or down.

The taken straddle involves the purchase
of an at-the-money call and an at-the-
money put. The taken strangle involves the
purchase of an out-of-the-money call and
an out-of-the-money put.

The most you can lose is the two
premiums you pay on opening your
position.

Your view is that volatility will increase.

Time decay works strongly against the
strategy.

The strangle costs less than the
straddle, however the share price
must move further for the strategy to
be profitable at expiry.

The main advantage of both strategies
is that you have both directions
covered. The direction the stock price
moves is irrelevant. All that matters is
that the move is large enough.

The main risk is that the share price
does not move far enough.

The straddle and strangle are often
closed out ahead of expiry, before the
most damaging phase of time decay is
reached.

Practical examples of option strategies are given throughout these modules.

Prices used in the examples were calculated using an option pricing model, and are based on
the following, unless otherwise specified:

Underlying stock price: $10.00
Volatility: 25%

Risk free interest rate: 5%
Days to expiry: 30

The stock does not go ex-dividend during the life of the option

American exercise style

Brokerage costs are not included in the examples. It is, however, important to take brokerage
costs into account when trading options.

Please note that some payoff diagrams that appear in this course are conceptual in nature, and
may not be drawn exactly to scale.
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